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# B & #
I A
1 2% A2 RA
AR (50N XT0001) 350, 000
24N (50 A X 3000MH) 150, 000
500, 000
2 FERAN
R REBREE RN 2,200, 000
2, 200, 000
3 WBIEFRAN 0
77 o2 2 B RAR B 2N
R By R A IRON ‘ °
4 FRERAN 0
5 ARSI 0 0
EARSA LR
HIRANSEH (A) 2, 700, 000
BRAIR KA 0
K N & 3 (B) 2, 700, 000
I Xbo#
1 FEF¥
ES7 7B 220,000
e U E 220, 000
EIE R 440,000
PN AN
OIERKRET 1, 800, 000 2, 680, 000
S X ke (C) 2, 680, 000
LR KA (A) — (C) 20, 000
RIAEMIR X EH (B) — (C) 20, 000
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I BRADH
1 2% - ARSRAN
ABBIRN 0
IR 0
0
2 FERAN
g L REERN 1, 100, 000
1, 100, 000
3 WBIEERA 0
77 20 2 B R A B 2N
RMB) R A AN 0
0
4 FHHERAN 0
0
5 EARSEHRA 0
EARSH| LR
0
SRS (A) 1, 100,000
RTHALRARIR X £ B 0
K N A& 3 (B) 1, 100, 000
0 XkoH
1 FE%
YT — g R 1, 000, 000
1, 000, 000
LI X kA (C) 1, 000, 000
LR KA (A) — (C) 100, 000
RIABHIR X EH (B) — (C) 100, 000
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# 3] % A
I BADH
1 2% - ARERN
ARSI (100 A X 7000) 700, 000
KFIIN (150 A X 3000H) 450, 000
1, 150, 000
2 FERA
FABEE E RN 4, 400, 000
4, 400, 000
3 B EFIRON 0
377 0 25 B R A B RN
R 18 B2 IR 0
0
4 FRASEN (—E1005H) 1. 000, 000
1, 000, 000
5 EARSIFPRN 0
EARSH| LR
0
BHRASI (A) 6,590, 000
AR ARIR X £ B 20, 000
AN
K N & 3 (B) 6. 570, 000
I XdoxR
1 FEH
SERS LR 600, 000
TR PR AL 600, 000
BEEL Rl = 1, 200, 000
PR 4, 000, 000
6, 400, 000
EE &%
ER B (C) 6. 400, 000
LR X EH (A) — (C) 150, 000
KRB X EH (B) — (C) 170, 000
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I A
1 2% - ARSRAN
ANRERN 0
2 FBRAN
0
0
2 FERAN
g L REERN 2, 200, 000
2, 200, 000
3 WBIEERA 0
77 o2 2 B RAR B 2N
R P By R A RON ‘
0
4 FH2RAN 0
0
5 EARSIPN 0
EARSH LIRA
0
BHIRANSE (A)
o 2, 200, 000
100, 000
K AN & F#H (B) 2, 300, 000
I Xk
1 F%%
YT — g R 2, 000, 000
2, 000, 000
S X ke (C) 2,000, 000
LR KA (A) — (C) 200, 000
RMBERIR X EHR (B) — (C) 300, 000




